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‘@’ Reorronge the words to make a sentence.
oy

A

FEEIF L<INT. RIcA > B0 ERSS.)

®

(E30L2) (mcE)

E ( birds / You / hear )

(E5LE) _(?;C’a:_) |
( He / in Japan / lives )
(€= ahs))] (E3LE) (&Cio)
(1 / English / teach )

(Ceighald) (&3U2) (7ZICZ)
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‘@' Rearrange the words to make a sentence.
FoEEaEU<EnT Ricds>EEoXEF35.)

(Fznn®) (&au2) o)
® ’@% ( everyday / cry / You )
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‘ﬁ‘ Rearrange the words to make a sentence.

ROEBEELUTINT, Blc
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( wants / She / a dress )
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‘@‘ Rearrange the words to make a sentence.
oF R T

(ROZBEEEUTINT. BIcASREONEFSS.)

G gva)) (&s50uE) €\t

@ ﬁ’ ( She / aletter / sends )
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‘@' Rearrange the words fo make a senfence.

FoEEat U< frdsEEoxsEk=5.)

(E3U) (EATRZDIT)

( They / amelon / give )

b —— 1 IO ) —— i,_

S—
Jznm (&3U2) (7zIC®)

AUSA DL 0
EXEEDICEGF A~ CEECCANNENND?

@D s G ®
- -

A 4
AN
EAIRSDIC
A1)
ECT
nz

nnt

-41-




-@v Rearrange the words fo make a sentence.
RoFEarU<iinT BicdsEEoxzr=s.)
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@tl’ Choose the correct words and make sentences.
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&

= Choose the correct words and make sentences.
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'@'Choose the correct words and make sentences.
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